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TP. m

a 1995 1999 3.49 1998 10 8

b 1995 1999 2.52 1998 9 25

c 1995 1999 2.53 1998 9 22

d 1995 1999 2.28 1998 9 22
a-1 1995 1999, 2004 2009 15.42 2006 8 7
a-2 2004 2009 13.60 2006 7 28
b-2 2004 2009 9.06 2006 7 30
c-0 1995 1999, 2004 2009 2.05 1998 9 19
c-2 1995 1999, 2004 2017 2.58 2012 7 7
c-3 2004 2017 2.49 2012 7 7
c-4 2004 2017 2.00 2012 6 25
d-1 1995 1999, 2004 2009 150 1998 9 18
d-3 2004 2017 144 2013 10 27
d-6 2004 2017 158 2013 10 28
e-2 2004 2017 1.38 2006 10 8
e-3 2004 2017 150 2013 10 16
e-5 2004 2017 1.30 2013 10 21
e-6 2004 2017 1.26 2013 10 21
B-1 2005 2017 2.90 2006 7 30
B-2 2005 2017 3.09 2006 7 30
B-4 2005 2017 3.56 2006 7 31
B-6 2005 2017 551 2006 8 17
C-4 2005 2017 3.17 2012 6 27
C-7 2005 2017 4.99 2006 8 18
D-0 2006 2017 2.37 2012 6 22
D-3 2005 2017 2.88 2006 10 7
D-4 2006 2017 2.76 2012 6 25
D-5 2006 2017 2.54 2012 7 16
E-4 2006 2017 2.26 2012 6 25
F-2 2005 2015 174 2013 10 30
F-4 2005 2017 155 2013 10 27
F-6 2005 2017 177 2012 6 24
G-5 2005 2017 153 2013 10 27
H-4 2006 2017 2.13 2013 10 16
H-7 2005 2017 1.33 2013 10 27
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|
e o'ma Gma hmax Po S1 Wy P1 P2 G
[ kKN/m? ] [ kN/m? ] [ 1]
358 253,529
0.75 312 220,739 0.220 34.8 0.047 6.5 1.26 0.80 2.00
358 253,529
du 0.75 312 220,739 0.220 34.8 0.047 6.5 1.26 0.80 2.00
497 278,087
Ag2 0.67 299 167,137 0.233 349 0.028 56.5 9.00 0.60 3.40
Ac 1.59 480 121,829 0.200
As 1.20 378 143,284 0.216 38.3 0.046 6.9 1.00 0.75 2.27
814 392,073
Agl 0.67 814 392,073 0.221 34.9 0.029 51.6 12.00 0.60 3.35
D2c-3| 1.09 696 285,223 0.186
D2s-3 | 0.79 966 650,611 0.192 334 0.048 176 4.80 0.96 3.15
1,167 1,362,035
D2g-3 | 043 1,167 1,362,035 0.130 414 0.030 452 8.00 0.60 3.82
Im 2.80 223 35,783 0.151
Dlc-1| 1.09 696 285,223 0.186
1,695 947,946
D1g-1| 0.67 1,710 956,776 0.233 349 0.020 105 7.00 0.50 2.83
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F
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F
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